Algebra II- Fall Final Review                               OMIT 15, 16, 17!!!!!
1-2. Describe each correlation:
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	Determine if each is a function:

3. {(0,0),(1,-1),(2,-4),(3,-9),(4,-10)}

4. {(2,-6),(2,-2),(2,0),(2,3)}

5. {(3,2),(4,2),(5,3),(6,3)}
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Find:

6.  f(3)     7.  g(2) + h(0)     8.  h(-2)     9.  g(2) – f(0)


Describe the transformation and graph:

	10. 


[image: image4.wmf]6

)

2

(

2

-

-

=

x

y



	11.


[image: image5.wmf]5

1

-

+

=

x

y


	12.


[image: image6.wmf]3

2

+

-

=

x

y


	13.


[image: image7.wmf]1

3

-

=

x

y


	14.


[image: image8.wmf]2

)

1

(

2

+

+

-

=

x

y



	Classify as irrational, rational, integer, whole, and / or natural:

15. 
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16.  -5.325

17.  
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	Find the slope given the following info:

18. (3,-2) (-4,-1)

19. 
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Given the slope and y-intercept, write the linear equation in slope intercept form and graph the lines:

21.  m = 3/2, y-int = -2



22.  m = -1/3, y- int = 1

23. Write the equation of the line parallel to #21 passing through point (4,1) in slope int. form.

24. Write the equation of the line perpendicular to #22 passing through point (-2,3) in slope int form.

25. Write the equation of the line passing through the points (-3,-5) and (3, -7) in slope int form.

26. Which line is perpendicular to 
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Solve each equation or inequality:

	27.  
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Graph each inequality:
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	35.  Solve.
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	36.   Solve
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Given: 
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	37.  Find: a12
	38. Find: a32
	39. Find: a22
	40. Which is greater:  a23 or a32?


Find each sum or difference if possible.

	41. 
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	42. 
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43.  If A=
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what are the dimensions of A * B?
44.  Find A*B in #43.

	45.  Find the determinants of:

      a.  
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	46.  Use a calculator to find the inverse:

       a.  
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Solve using matrices:
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51. Which point maximizes: 
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	a. (0,5)
	b. (2,3)
	c. (8,0)
	d. (1,4)


52.  Use regression to find the equation that best fits the given data.  Be sure to decide whether to use linear or quadratic regression.  
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53.  Solve for x and y:  
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54. Find the vertex:

	a. 
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55. Find the zeros:

	a. 
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56.  Find the domain and range for:  a.  
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Simplify:
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Simplify:
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